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A sum of Rs.2500 amounts to Rs.5000 in two years at compound interest.

Find the interest for four years?

ASh (g, SATS WX &1 AT | 2500 T T AT 5000 TIA B SATAT ¢l AR ATA BT
ST 1T shiToTd?
(a) £7500 (b) 10,000 (c) 5000 (d) £2500
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A sum of 8,000 deposited at compound interest becomes double after 4

years. How much will it be after 12 years?

TSHATG, AT UX THT 6T TE 8,000 T I 4 T 91g FUHT 81 AT 81 12 AT

a1e I fohaqT g
(a) Rs.56,000 (b) Rs.64,000 (c) Rs.80,000 (d) Rs.40,000
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What will be the compound interest on Rs 14,000 for 2
years at 10% per annum compounded annually?

14,000 TUY W 10% dA¥P eI ¥ 2 a¥ T Ahglg
1ol TehddT SI9M?

(a) Rs.3,490 (b) Rs.3,940 (c) Rs.2,940 (d) Rs.1,490




3
M MATHS /
ERY o N §

Find the principal on which compound interest for 2 years
at rate of 10% per annum is 840.
TE UARTIOT T RIS TSTHRT 10% hT ATk X H 2 AW oKl eAshdllg saT 840 % |

1.3600 2.3680 3.4000 4.4200




Compound interest (compounding annually) on a sum for 2 years is Rs. 4180

If rate of interest is 20 percent per annum, then what is the sum?

T ITIT O 2 Y T TAehalfg, ST (ATTHeh €U & HATA) F. 4180, ATS SATH bl X
20 Srferera Tfa o 2, T AT T E?

() Rs. 9800 (b) Rs. 8800 (¢) Rs. 8500 (d) Rs. 9500
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Rs. 6000 is lent at the rate of 20 percent per annum on compound interest
(compounded half yearly). What will be the compound interest of 18 months?

%. 6000 T ThATeg, ST (FLATNH T T HATTT) T 20 TFa9rd Tfd a0 KT /A
YR T3AT STAT 31 18 I hT Ashlfog, SATS FAT FRIT?

() Rs. 1825 (b) Rs. 1986 (¢) Rs. 1876 (d) Rs. 2036




A person borrowed Rs. 8000 on compound interest at the rate of 20 percent
per annum. If the interest is compounded half yearly, then what will be the

amount to be paid after 1.5 years?

U safh 50 3uR forul 8000 it e 20 witera it X @ wshaty s W) Ay
ST TUATNh €T W TAIAA (RIT STAT g, AT 1.5 T o6 o715 JIAT hl J STeAt

ST /T Be?
a) Rs. 10825 (b) Rs. 9865 (¢) Rs. 10648 (d) Rs. 11488




Fmd the principal on which compound interest for 2 yea

at rate of 15% per annum is 1290.
& AT AT ShITTH TSTHeRT 15% Thi TN & H 2 TH T Ashal (g sAT 1290

2 |
1.3600 2.3000 3.4000 4.4800




2,
compounded annually Find the compound interest.

A sum amount to Rs.1715 in 3 years at rate of 16

Ueh SFRT9T 3 a9 | 16—%@an§% AhATg, AT hl TWH 1715 TUY T ATAT § |
Ashalleg ST AT ﬁﬁr@rl

1.600 2.620 3. 625 4. 635




A sum amount to Rs. 6250 in 4 years at rate of 25%
compounded annually. Find the compound Interest.

Teh ATIIT 4 6T H 25 % hl ST Sehal (g, AT hl 3L H 6250 T BT AT 2 |
Akl [g, AT T hITeT |

1. 3690 2.3620 3. 2560 4.3960
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Find the interest on Rs.10000 for 112 years at 8% per
annum compounded half-yearly.
8% TTcrerd shT ST H 10000 TUA T 1! Y hT SFALUATINh SIshdllg, ST ATd

Rt
1.1200 2.1248 3.1248.64 4.1249.24




Find the interest on Rs.20000 for half year at 20% per

annum compounded quarterly.
20% TTdad BT ST H 20000 FUA TR 378 T hT TAHTE Tk (g, SATH AT

N e

chIT<Td|
1.2000 2.2025 3.2050 4.2100




The compound Interest on Rs. 15000 at 5% per annum,
for a certaln perlod of time Is Rs. 1537.5. Find the time In

years.
15000 F. T 5% STk AT <kl 2T T ThET TG AT 3T-dTcT <k Ak <5

TS 1537.5 &. TAT S | I0IT (TUT /) FTd shiteT |
1.1 2. 1.5 3.2 4.3




If the compound interest on a sum of money at 5% for 2 years is
Rs.205, then find the simple interest on the same sum at same

rate in same time.
qTd 2 TU | 5% AT hl 3T W TAshdlleg sATS 205 YUY 2, a1 IHT AT 0 THE 5 H T

. o
O § ATIRUT ST 3T ShI T

1. 180 2.200 3.202.5 4. 160




If the compound interest on a certain sum for 2 years at 3% is

Rs.101.50, what would be the simple interest?
e 2 TG H 3%, ehi 21 T Ueh 121G &FT9T UX 101,50 TUT g, ATLATIUT AT ST ZHTT?

1. 100 2. 50 3. 65 4. 80
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If the simple interest on a sum of money in 2 years is Rs.160

and compound interest on the same sum at same rate of
interest is Rs.164. Find the rate of interest.
Ueh AT X 1 Wi H ATLIROT ST 160 . 7 A IHT GA0197 U 38t 3 | wAshalleg ST

164 5. T | SATST hl 2 AT kil |

1. 4% 2.45% 3.5% 4.5.5%




The simple interest and compound interest on a certain sum
money with a given rate for a period of 2 years are Rs.900 and

Rs.954 respectively. The sum of money is :
Tk T2 arter o) e samst it 3T | 2 99 T ATLROT ST SR <Ashal(g saTe ShHIT:

900 TUT 3R 954 TUT | L1972
1. 3570 2.3670 3. 3750 4. 3760




At what rate of compound interest per annum will a

Rs. 400 become Rs 441 in 2 years?
TR I 9 Tshalleg, ST G UR, 2 6T H 400 TUH hT SAT09T 441 FOH BT SATTH?

1.4%  2.5%  3.6.25% 4. 8%
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If the difference between the compound interest of 3™ year and 2™ year given at
20% rate of interest 1s 72, then find the sum.
Iie e a9 aﬁ'{a@{aﬁ oh Ak (g, SATST Rl AL 20% AT W 72 %, 8, aAl

TYTIOT 7T 1)

1. 1250 2. 1500 3. 2000 4. 2250
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The compound interest on a certain sum of money at 3% per annum after 2 years is

Rs.487.2 . Find the amount of the simple interest obtained on the same sum of money at
the same rate of interest after 4 years.

2 Y o G 3% Tid a9 0 Tk FAfera afer X wshafes same € 487.2 81 4 99 & o1g 99
SITST 2T YT THT LAI9T G UTH HTLIRUT SATST <hi AT AT R0
1) 420 2)480 3) 500 4) 960
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If simple interest on a certain sum for 5 years at the rate of 5% p.a. is Rs. 1500, then

find the compound interest for the same sum for 2 years at the same rate .

Tfe fereft TSt uw 5%, a1fder it S & 5 o & forg ATaRoT I T 81 1500 2, O @HE

TTTIT ST |HTT T 2 T T Ashdlfg, SATH AT ShITTTl
A) Rs.500 B) Rs.510 C) Rs.615 D) Rs.525




Difference between si and ci for 2 years on rs 5000 is 312. 5

at the rate of x % find the value of = > ?:
5000 %. TR 3 TTeT % Fo1 si 31 ¢i % sfier ot afet X% BT XA 312,58 §. X @
HT AT ShITSTU? 2

A)15 B)25 C) 12.5 NE
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Sohan invested Rs.16000 at R% p.a. at Cl compounding semi-
annually for 1 years. If total interest received by Sam is Rs.3360,

then find the value of R?
e 1 a¥ & o 391 U & TASd Thglg <aTsT &7 R%
aiffis &X & 16000 %. &I fAdr &XaT &l IfG A gRT U1@ Fed
SITST, 3360%. &, dl RI AT IATd hITAA?
A)24% B)20% C)36% D)16%
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A sum becomes 1.96 times of itself in 2 years when invested at compound interest

(compounding annually). What is the annual rate of interest?

AHATG, SATH (JATTHh HATTT) UX THAIT T WX 2 ATA H Teh AT 1.96 THT B AT g TR
SITST &1 T 82

(a) 30 percent (b) 40 percent (c¢) 35 percent (d) 20 percent
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The difference between the compound interest (compounding half yearly) for 1 year and

the simple interest for 1 year on a certain sum lent out at the annual rate of 10 percent is
Rs. 25. What is the sum?
10 S9Ta 6T STV S UX IR &Y TS Ueh (T2 W1 WX 1 99 o fore wshatg same

(TR ®T T GAIAT) T 1 I o {70 ATRUT ST ok =T T 37X 25 1 0T T 22
(a) Rs. 12000 (b) Rs. 6000 (c) Rs. 8000 (d) Rs. 10000







